
f(x)≥5

f(x)=3sinx,forπ<x<2π

therangeoff(x)is

−
1
≤

f(
x)
≤
1

f(x)
=7x

−4,
for

x>
1

the
ran

ge
of f(x)

is

f(x)=
8−

2x,
for−

2
<
x≤

1

the
range

of
f(x)

is

f(x)=2cos 2x, for 0≤x≤ π
2

find the range of f(x)

f(x)=
2x+9,forx≥0

findtherangeoff(x)

f(
x)
>
4

f(x)=
24−

10x−

the
range

of
f(x

f(x)
= x−2

, x
≥2

the
ran

ge
of f(x)

is

−
16≤

f(x)<
54

f(x)=cos x
2 , for 0≤x<π

the range of f(x) is

−
1
2
≤f(x)≤

1
2

f(
x)
≥
0

f(x)
=4
+x

2 , for
all

x

the
ran

ge
of f(x)

is

f(x)≤
4

−
1,

fo
r
x>

0

of
f(
x)

is
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−3≤f(x)<0

0≤f(x)<1

f(
x)
≥
3

f(x)
=−

7x−
4,

for
x>

1

the
ran

ge
of f(x)

is

f(x)>
3

0≤f(x)<16

f(x)≤0

f(
x)
=

x+
16

,
fo
r
x>

0

fin
d
th
e
ra

ng
e
of

f(
x)

6≤
f(x)

<1
2

f(x)>

0≤
f(x)

<1

f(x)
=sin

2x,
for

0≤
x<
π

4

the
ran

ge
of f(x)

is

f(x)≥
0

f(x)=x 2+6x+5, for all x

the range of f(x) is

f(
x)
=

x2
−
6x
−
16

,
fo
r
al
lx

th
e
ra

ng
e
of

f(
x)

is
f(x)
=4
−x

2 , for
all

x

the
ran

ge
of f(x)

is

f(x)=
−

x
2,

for
allx

the
range

of
f(x)

is

x−
x2

,
fo
r
al
lx

f(
x)

isMore resources from www.mathssite.com



f(x)≥3 2

f(x)=cosx,for0≤x≤π

therangeoff(x)is

0
<
f(
x)
≤
1

f(x)
=x

2 , −
2≤

x<
4.

the
ran

ge
of f(x)

is

f(x)=
x
2,−

2≤
x≤

3.
the

range
of

f(x)
is

f(x)=x 3, −2≤x<3

the range of f(x) is

f(
x)
=
2x

3 ,
−
2
≤

x<
3

th
e
ra

ng
e
of

f(
x)

is

−8
≤f(x)

<2
7

f(x)<

f(x)
≤49

f(x)
=3

x−4
, for

x≥4

find
the

ran
ge

of f
(x)

f(x)≤
16

f(x)≥4
f(x)≥−4

f(
x)
=

3x
−
5,

fo
r
x≥

10

fin
d
th
e
ra

ng
e
of

f(
x)

−2
≤f(x)

≤2

f(x)
≥5

f(x)=
12 cos

x,
for

0≤
x≤
π

find
the

range
of

f(x)

f(x)=sinx,for0≤x<π/2

therangeoff(x)is
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